

数学B

$$(1) \quad l = \int_0^T \sqrt{\left(\frac{dx}{ds}\right)^2 + \left(\frac{dy}{ds}\right)^2 + \left(\frac{dz}{ds}\right)^2} ds$$

$$\begin{cases} \frac{dx}{ds} = -a \sin s \\ \frac{dy}{ds} = a \cos s \\ \frac{dz}{ds} = b \end{cases}$$

代入

$$\begin{aligned} l &= \int_0^T \sqrt{a^2 \sin^2 s + a^2 \cos^2 s + b^2} ds \\ &= \int_0^T \sqrt{a^2 + b^2} ds \\ &= \sqrt{a^2 + b^2} T \end{aligned}$$

$$\begin{aligned} (2) \quad (i) \quad \frac{\partial u}{\partial x} &= \frac{-2yz}{(x^2+y^2)^2} + \frac{8x^2yz}{(x^2+y^2)^3} \\ &= \frac{-2yz(x^2+y^2) + 8x^2yz}{(x^2+y^2)^3} \\ &= \frac{6x^2yz - 2y^3z}{(x^2+y^2)^3} \\ \frac{\partial u}{\partial y} &= \frac{-2xz}{(x^2+y^2)^2} + \frac{8xy^2z}{(x^2+y^2)^3} \\ &= \frac{-2xz(x^2+y^2) + 8xy^2z}{(x^2+y^2)^3} \\ &= \frac{6xy^2z - 2x^3z}{(x^2+y^2)^3} \end{aligned}$$

$$\frac{\partial u}{\partial z} = \frac{-2xy}{(x^2+y^2)^2}$$

$$\begin{aligned} \frac{\partial u}{\partial x} &= \frac{2xz}{(x^2+y^2)^2} - \frac{4x(x^2-y^2)z}{(x^2+y^2)^3} \\ &= \frac{2xz(x^2+y^2)}{(x^2+y^2)^3} - \frac{4xz(x^2-y^2)}{(x^2+y^2)^3} = \frac{-2x^3z + 6xzy^2}{(x^2+y^2)^3} \end{aligned}$$

$$\begin{aligned} \frac{\partial u}{\partial y} &= \frac{-2yz}{(x^2+y^2)^2} - \frac{4y(x^2-y^2)z}{(x^2+y^2)^3} \\ &= \frac{-2yz(x^2+y^2)}{(x^2+y^2)^3} - \frac{4yz(x^2-y^2)}{(x^2+y^2)^3} = \frac{-6x^2yz + 2y^3z}{(x^2+y^2)^3} \end{aligned}$$

$$\frac{\partial u}{\partial z} = \frac{x^2-y^2}{(x^2+y^2)^2}$$

$$\frac{\partial w}{\partial x} = \frac{-2xy}{(x^2+y^2)^2}$$

$$\frac{\partial w}{\partial y} = \frac{1}{x^2+y^2} - \frac{2y^2}{(x^2+y^2)^2} = \frac{x^2+y^2}{(x^2+y^2)^2} - \frac{2y^2}{(x^2+y^2)^2} = \frac{x^2-y^2}{(x^2+y^2)^2}$$

$$\frac{\partial w}{\partial z} = 0$$

(ii)

$$\operatorname{div} u = \left(\frac{\partial u}{\partial x}, \frac{\partial u}{\partial y}, \frac{\partial u}{\partial z} \right) \quad \therefore \vec{u} \text{ is irrotational}$$

$$\operatorname{rot} u = \begin{vmatrix} \partial_x & \partial_y & \partial_z \\ u & v & w \\ \mathbf{e}_x & \mathbf{e}_y & \mathbf{e}_z \end{vmatrix}$$

$$= (\partial_y u - \partial_z w) \mathbf{e}_x + (\partial_z u - \partial_x w) \mathbf{e}_y + (\partial_x u - \partial_y u) \mathbf{e}_z$$

$$= \frac{x^2-y^2}{(x^2+y^2)^2} \mathbf{e}_x + \left[\frac{-2xy}{(x^2+y^2)^2} - \frac{-2xy}{(x^2+y^2)^2} \right] \mathbf{e}_y$$

$$+ \left[\frac{-2x^3z + 6xzy^2}{(x^2+y^2)^3} - \frac{6xy^2z - 2x^3z}{(x^2+y^2)^3} \right] \mathbf{e}_z$$

$$= \frac{x^2-y^2}{(x^2+y^2)^2} \mathbf{e}_x \quad \mathbf{e}_x: \text{no curl in } x \text{ direction.}$$

(3) (i) $d\tau = \omega dt$ " " " "

$$\frac{dx}{dt} = \frac{dx}{d\tau} \frac{d\tau}{dt} = \omega \frac{dx}{d\tau}$$

$$\frac{d}{dt} \left(\frac{dx}{dt} \right) = \omega \frac{d}{d\tau} \left(\frac{dx}{d\tau} \right) = \omega \frac{d\tau}{dt} \frac{d}{d\tau} \left(\frac{dx}{d\tau} \right) = \omega^2 \frac{d^2x}{d\tau^2}$$

代入 (1)

$$\omega^2 \frac{d^2x}{d\tau^2} + x + \varepsilon x^3 = 0 \quad \text{--- } (*)$$

(ii)
$$\begin{cases} x = x_0 + \varepsilon x_1 + \dots \\ \omega = 1 + \varepsilon \omega_1 + \dots \end{cases} \quad \text{代入 } (*) \text{ 求 } x_0, x_1.$$

$$\begin{aligned} & (1 + \varepsilon \omega_1 + \dots)^2 \left(\frac{d^2x_0}{d\tau^2} + \varepsilon \frac{d^2x_1}{d\tau^2} + \dots \right) \\ & + (x_0 + \varepsilon x_1 + \dots) + \varepsilon (x_0 + \varepsilon x_1 + \dots)^3 = 0. \end{aligned}$$

$\varepsilon = 0$ 时: $\frac{d^2x_0}{d\tau^2} + x_0 = 0$.

$$\frac{d^2x_0}{d\tau^2} + x_0 = 0$$

$\varepsilon = 1$ 时: $\frac{d^2x_1}{d\tau^2} + (2\omega_1) \frac{d^2x_0}{d\tau^2} + x_1 + x_0^3 = 0$.

$$\frac{d^2x_1}{d\tau^2} + (2\omega_1) \frac{d^2x_0}{d\tau^2} + x_1 + x_0^3 = 0$$

$$\therefore \frac{d^2x_1}{d\tau^2} + x_1 = -2\omega_1 \frac{d^2x_0}{d\tau^2} - x_0^3$$

(iii) (A) $x = \frac{1}{\omega} \cos \omega t = \frac{1}{\omega} \cos \tau$

$$x_0(\tau) = A e^{i\tau} + B e^{-i\tau}$$

$$\therefore x_0(t) = A e^{i\omega t} + B e^{-i\omega t}$$

初值条件 $x(0) = a, \dot{x}(0) = 0$

$$\begin{cases} A + B = a \\ A - B = 0 \end{cases} \rightarrow A = B = \frac{a}{2}$$

$$x_0(t) = \frac{a}{2} e^{i\omega t} + \frac{a}{2} e^{-i\omega t} = a \cos \omega t$$

(iv) (B) is (A) a pair of τ and $\bar{\tau}$.

$$\frac{d^2 x}{d\tau^2} = -a \cos \tau$$

$$\frac{d^2 x_1}{d\tau^2} + x_1 = +2\omega_1 a \cos \tau - a^3 \cos^3 \tau$$

(ii) 2nd pair $\frac{d^2 x_1}{d\tau^2} + x_1 = 0$ is homogeneous. $x_1 = A \underbrace{e^{i\tau}}_{= y_1} + B \underbrace{e^{-i\tau}}_{= y_2}$

\therefore 2nd pair of homogeneous solutions.

$$\begin{aligned} (\text{force}) &= 2\omega_1 a \cos \tau - a^3 \cos \tau \cos^2 \tau \\ &= 2\omega_1 a \cos \tau - a^3 \cos \tau \frac{1 - \cos 2\tau}{2} \\ &= 2\omega_1 a \cos \tau - \frac{1}{2} a^3 \cos \tau + \frac{1}{2} a^3 \cos \tau \cos 2\tau \end{aligned}$$

$$\left(\begin{array}{l} \cos(\alpha + \beta) = \cos \alpha \cos \beta - \sin \alpha \sin \beta \quad \text{I} \\ \cos \tau \cos 2\tau = \frac{1}{2} (\cos 3\tau + \cos \tau) \end{array} \right)$$

$$= 2\omega_1 a \cos \tau - \frac{1}{2} a^3 \cos \tau + \frac{1}{4} a^3 \cos 3\tau + \frac{1}{4} a^3 \cos \tau$$

$$= 2\omega_1 a \cos \tau - \frac{1}{4} a^3 \cos \tau + \frac{1}{4} a^3 \cos 3\tau$$

\therefore (iii)

$$W = \begin{vmatrix} y_1 & y_2 \\ y_1' & y_2' \end{vmatrix} =$$